EE (FHEEIE) B %
TR F156 % | FATI50 % | FARH60% | FAT061 2 | A F62 % | FARN6 3% | FARL6A%E | T R2% | T Hia% | FRRA% | FRRo% | TH6% | TRI% | FAROH | THO% | T R10% | TR 2| R 28 | R 185 | AR 14% | F 155 | T 5165 | Ak 1 12 | F Ak 182 | T Bl 9% | T hk20% | P Rk & | T 22 2 | TRk 2 e | T kod s | T B 2o% | 26 % | T hk2 1% | T P28 | T B 20 % | F Fko0% | ERk31 &
JINgH G X 3.3 2.3 2.6 7.3 31.9 116.0 —4.1 2.3 41 -4.3 -134 -12.2 -15.0 -11.8 -13.9 -10.5 -9.9 -9.4 -8.6 -10.6 -7.9 -6.3 —4.6 -1.2 5.6 12.8 -8.4 —4.2 -1.2 -0.2 0.7 20 1.7 24 24 3.3 4.3
=X 2.1 3.1 5.2 279 122.6 -3.0 3.0 3.3 -4.0 -13.0 -8.0 -11.1 -9.2 -10.5 -10.1 -104 -9.5 -9.0 -11.0 -7.9 —6.4 -3.7 0.7 7.2 14.8 -1.7 -29 0.0 0.7 5.4 4.8 34 3.8 3.9 4.5 5.8
fREX 3.2 2.2 2.3 7.2 31.7 116.7 -5.0 20 3.1 -3.6 -154 -13.1 -12.5 -10.2 -10.0 -8.0 -9.5 -8.7 -8.3 -9.9 =715 =55 -25 0.3 8.2 16.7 -8.1 -3.7 1.7 1.2 4.9 6.3 4.6 4.1 3.6 4.3 5.6
22X 2.9 1.9 20 7.6 18.9 100.5 -0.5 3.0 3.8 -2.7 -11.7 -12.2 -9.8 -12.8 -12.0 =71 -8.4 -8.2 -8.3 -9.4 -7.6 —6.4 -3.4 0.2 74 16.4 -7.2 -3.4 -0.1 0.1 3.3 4.6 4.2 3.9 4.0 4.6 6.4
ZERX 3.5 4.2 6.5 44.7 86.2 -2.0 0.0 3.6 -0.8 -16.0 -23.6 =715 -9.2 -7.9 —6.2 -7.9 =71 =75 -84 -7.8 -6.3 -3.1 -0.7 7.0 9.5 -5.9 —4.3 -1.1 -0.3 0.2 2.3 20 1.9 2.1 34 41
ERIX 0.0 3.6 5.0 64.2 95.6 0.0 0.0 4.9 -2.5 -15.6 -16.7 -10.5 -17.6 -14.3 -5.0 -6.0 —6.8 —6.2 -74 —6.7 —6.5 -3.3 -0.9 5.6 8.8 -6.5 —4.5 -1.1 -0.1 0.5 2.8 3.2 2.8 2.6 3.6 3.7
FRERX 3.6 4.1 5.3 50.0 88.9 -2.0 0.0 20 -2.0 -13.3 -154 -9.1 -13.0 -12.1 -10.1 —6.2 -9.9 -9.5 -9.8 -8.7 =71 -39 -0.2 7.8 10.9 -5.6 -3.2 -1.0 -0.3 1.0 2.1 1.7 2.1 3.3 4.3 4.4
R BRX 24 2.2 24 4.1 24.0 873 -0.8 1.0 2.8 -2.2 -13.7 -124 -6.5 -9.9 -8.1 —6.6 -10.1 -8.6 —6.8 -7.2 -7.0 -5.8 -3.7 -1.9 41 6.4 -5.4 —6.6 -1.3 -1.9 0.0 2.6 24 2.6 24 25 2.8
BIX 2.7 2.2 6.3 7.0 52.4 109.1 0.0 1.3 3.1 -1.1 -14.2 -13.3 -11.8 -13.1 -104 -1.7 -9.9 -8.1 =715 =71 -7.0 -5.4 -3.3 -1.6 7.0 12.2 -5.4 —6.8 -1.7 -1.1 0.4 3.0 2.3 2.2 25 2.9 3.9
B 2.9 3.2 24 9.3 60.8 83.3 0.7 0.0 1.4 -3.5 -21.5 -15.0 -11.5 -16.8 -154 -5.9 -7.8 -74 —6.2 =71 -7.0 —6.7 -3.8 -0.1 7.3 8.7 —6.1 —-4.4 -1.7 -1.2 0.5 1.2 1.3 0.6 1.0 1.1 1.1
FERX -10.7 -17.0 -134 -5.6 -8.7 -84 -74 —6.7 —6.9 -6.0 -4.0 0.8 10.0 11.1 =715 —6.1 -1.2 -1.5 0.9 2.6 20 1.8 1.8 1.8 1.8
HHRX -1.8 -7.3 -7.2 -6.9 =71 -7.6 =57 -3.6 1.0 12.3 16.6 -4.5 -4.0 -0.8 —0.6 25 3.9 2.9 1.6 1.9 1.7 1.6
EEEINNS 5.3 20 4.7 6.0 44.0 96.0 -0.6 1.4 0.9 -4.8 -13.7 -10.0 -12.7 -14.3 -13.3 -10.7 -12.0 -14.0 -12.1 -10.7 -9.1 =71 -4.2 -0.9 9.3 10.8 —6.1 -6.9 -2.9 -1.1 0.9 2.8 2.9 34 4.3 4.7 5.7
FEX 3.9 4.7 11.4 24.2 429 90.8 0.7 2.7 1.2 -4.4 -22.4 -19.9 -16.1 -16.7 -16.3 -7.6 -8.8 -11.1 -10.9 -10.5 -8.4 -6.9 -39 -0.9 12.6 14.3 -6.5 -7.8 -3.6 -1.5 0.5 3.7 3.9 45 6.3 7.1 74
FX 3.0 5.5 13.7 20.0 50.5 103.3 0.1 1.3 0.7 -4.7 -24.0 -21.5 -22.2 -214 -19.2 -10.1 -11.3 -12.3 -12.5 -11.2 -9.7 -6.8 —4.1 -14 9.6 12.2 -5.7 -7.0 -3.4 -1.7 0.4 3.3 3.1 3.1 3.1 3.2 3.9
X 3.7 2.5 3.5 10.4 23.7 97.1 0.00 0.6 0.6 -5.5 -15.9 -10.6 -9.5 -11.1 -12.0 -7.9 -10.1 -10.1 -7.9 -7.6 -7.3 —6.6 -4.9 -2.3 3.8 5.0 -3.7 —4.8 -2.6 -1.0 0.5 1.9 2.3 2.3 1.6 1.8 20
REirB8X 20 2.3 5.5 25.0 81.8 0.0 0.9 0.9 -2.6 -14.9 -12.7 -1.7 -13.5 -14.3 -8.1 -10.2 -9.8 -9.2 -9.0 -7.8 -6.5 -3.6 -0.4 5.7 7.0 -4.5 —44 -1.5 -0.8 0.6 2.2 1.8 1.6 1.5 1.5 2.3
TBX 2.1 20 20 6.2 35.6 83.5 0.0 0.6 1.1 -3.4 -17.0 -8.9 -9.2 -13.3 -134 -7.8 -9.0 -8.5 -1.7 -8.7 -6.9 —6.5 -39 -0.9 5.2 7.0 -3.6 -3.7 -1.1 -0.5 0.0 25 20 2.1 1.8 1.7 1.4
BAX 2.2 2.2 6.2 421 60.2 0.0 0.0 0.0 -1.5 -12.2 -8.7 -8.6 -14.5 -14.6 -8.6 -8.5 -9.8 -9.2 -8.0 —6.9 =55 -3.7 -1.1 4.5 6.5 -3.4 -3.5 -1.3 0.0 -0.3 0.2 0.9 0.3 0.8 0.9 20
BFX 2.3 6.2 6.7 19.7 106.6 -0.8 0.0 2.1 -3.2 -12.0 -8.3 -5.2 -11.2 -10.7 -7.9 -8.9 =79 -9.8 -10.1 -8.8 -8.0 —4.6 -2.5 2.3 5.6 -2.4 —4.6 -1.9 -1.5 0.3 0.9 1.0 0.8 0.8 0.9 0.9
EIRX 2.7 24 5.5 4.5 13.8 98.3 0.0 0.3 1.0 -4.4 -12.0 -7.2 -4.4 -9.8 -9.3 -6.8 =75 -74 -8.8 -8.7 -8.8 =71 -4.8 -2.3 2.8 5.9 -2.3 -4.3 -1.5 -1.5 0.4 1.2 1.0 0.8 1.0 1.2 2.1
BrX 3.5 5.7 9.9 9.3 33.3 129.3 -0.4 1.6 3.2 -3.8 -11.2 -8.1 -11.2 -15.1 -12.9 -8.5 -9.0 -8.3 -9.6 -10.0 -9.2 -8.2 -4.4 -1.8 3.0 7.6 -2.6 —4.6 -1.7 -1.3 0.5 1.3 1.6 0.9 0.9 1.2 1.2
FiFX 0.8 0.8 2.3 20.2 96.6 0.0 1.1 3.2 -1.6 -9.1 -8.5 -6.4 -9.3 -12.3 —6.3 =71 -7.0 -7.9 -8.1 -8.4 -7.3 -5.9 -3.6 2.9 8.0 -1.2 -2.2 -0.9 -0.2 0.6 1.3 1.8 1.6 1.4 1.5 1.5
X -3.3 -3.4 —6.4 -6.5 -7.0 -6.5 -6.5 -3.7 -2.6 2.7 6.4 -1.8 -2.7 -1.7 -1.0 -0.3 0.2 1.0 0.9 0.9 0.9 0.9
REX -5.0 -4.9 -5.2 -5.1 —4.5 -5.2 =53 -4.5 -3.1 20 75 -1.6 -2.0 -1.5 -0.7 -0.3 0.4 1.1 1.1 0.8 0.9 0.7
tEEET 3.3 3.5 4.2 5.1 19.0 94.4 -0.2 3.1 3.1 -1.3 —6.3 -12.7 -8.6 -9.6 -7.3 -6.4 -6.9 -7.0 =715 -8.5 -8.8 -8.1 -5.9 -3.5 -1.3 1.8 -2.4 -3.9 -2.0 -2.1 -1.5 -1.0 -0.9 -0.9 -0.7 -0.7 -0.4
=T 25 1.8 24 3.5 17.4 0.0 5.8 3.2 -0.3 -5.0 -8.8 —6.2 -5.5 -3.3 -3.1 -4.8 —6.2 —6.2 -10.5 -10.8 -8.5 -6.0 -3.8 -2.3 -0.7 -3.4 —4.6 -2.6 -3.8 -5.1 -5.4 —6.2 —4.4 -4.4 -4.4 -3.8
Ei-hid 3.4 1.5 4.5 3.0 48.3 101.9 0.0 0.0 2.2 -2.1 -15.8 -16.0 -144 -20.8 -15.7 -8.0 -10.7 -11.1 -104 =9.1 -8.5 -6.9 -5.1 -3.2 -0.9 8.3 -1.4 -3.5 -1.5 -14 -0.4 0.3 0.7 1.0 1.1 1.3 1.9
R 3.1 2.6 4.4 15.0 17.5 88.9 -0.6 0.1 2.8 -1.7 -12.7 -13.2 -12.8 -13.7 -12.6 -74 -9.1 -9.2 —8.06 =75 —6.8 -5.6 -4.4 -3.0 -0.7 8.4 -1.5 -3.6 -1.5 -1.1 -0.4 0.1 0.2 0.3 0.3 0.2 0.4
2Fh 5.0 1.6 3.5 75 17.8 82.7 0.0 0.0 1.9 -2.2 -14.8 -14.9 -7.9 -9.6 -9.6 -74 -9.5 -9.8 -9.6 —8.6 -7.2 =57 -5.0 -3.1 -1.1 6.5 -1.8 -3.5 -1.6 -1.2 -0.4 -0.2 0.3 0.1 0.2 0.1 0.6
EiFEH 2.3 1.2 2.9 4.5 10.8 80.2 0.2 34 4.7 -2.6 —4.6 —6.3 —6.7 -16.1 -13.5 -8.6 -10.2 -104 -8.5 -9.0 -7.2 =57 —4.1 -2.6 -0.7 45 -2.6 -2.8 -2.1 -24 -1.3 -0.7 -0.7 -0.7 -0.7 -0.6 -0.5
EZaonil 2.3 1.4 3.3 41 6.2 70.2 0.0 2.6 4.8 -1.7 -4.0 -6.5 -1.7 -16.7 -12.2 -4.3 -5.8 -8.3 -8.7 =59 -74 —6.4 -4.5 -3.5 0.0 6.1 -3.0 -2.9 -1.6 -1.2 0.1 0.4 0.1 0.7 0.4 0.4 0.8
pNinH 2.8 25 3.3 4.2 30.3 108.7 -4.2 0.3 2.3 -8.7 -19.1 -15.5 -9.5 -19.7 -12.7 -7.8 -13.3 -9.6 -104 -11.2 -8.8 -7.3 -4.8 -2.2 0.5 5.6 -1.9 -3.1 -1.6 -1.0 -0.2 0.0 0.1 -0.1 0.2 0.4 0.7
BERT 2.3 2.3 0.9 1.3 6.1 72.8 4.9 4.7 -5.2 —24.6 -11.2 -9.5 -18.2 -13.6 -8.2 -10.3 -8.9 -8.0 -3.8 -3.4 -3.2 -3.1 -1.7 24 5.7 -1.9 -1.7 -1.1 -0.7 0.0 0.7 1.8 24 3.0 2.7 2.7
PR 2.7 1.8 1.3 2.6 11.6 86.3 -1.0 1.4 3.6 —6.2 -13.7 -8.3 -6.5 -15.0 -10.1 -5.5 -7.9 —6.7 -7.8 -6.9 -74 -8.5 -6.0 -2.9 0.3 4.0 -2.4 -2.6 -1.1 -0.4 0.6 0.2 0.2 0.0 0.2 0.3 1.2
$EHETH  (FR21EET -4.2 -3.8 -3.3 -2.0 -0.7 2.1 -2.7| #xg
T (FREUR) -1.8 -1.2 -0.6 0.6 0.0 0.0 0.0 0.0 0.0
RS 2.9 1.7 1.5 10.4 49.7 96.6 -3.5 0.1 4.7 —4.1 -20.9 -20.2 -16.1 -20.9 -12.5 -7.9 -13.0 -11.6 -8.5 -10.9 -8.3 —6.2 -4.5 -2.3 0.8 6.3 -2.8 -3.7
BX -1.8 -14 -0.5 0.8 1.4 3.1 3.0 3.3 3.7
hRX -2.1 -1.4 -0.7 -0.1 0.0 0.1 0.2 04 1.2
EX -1.7 -1.1 -0.3 04 0.3 0.6 0.7 1.0 1.9
E=%h 1.4 1.3 1.3 1.1 3.1 81.3 0.0 2.0 3.4 -4.9 -14.8 -8.7 =71 -8.0 -7.9 —4.3 —6.1 -74 -10.0 -9.5 -8.8 -1.3 -6.4 -3.9 -1.6 04 -1.9 -3.1 -1.6 -1.4 -1.1 -0.7 -0.9 -1.3 -1.8 -1.6 -14
BEXH 2.8 45 4.2 15.1 66.1 124.9 0.0 2.6 3.2 -6.3 -22.3 -18.2 -15.6 -17.6 -11.9 -8.5 -94 -9.7 -13.1 -12.1 -11.2 -8.2 6.8 -3.7 -04 4.1 -1.8 -3.1 -1.5 -2.0 -1.1 -0.2 -0.1 0.2 0.2 0.6 1.0
EET 1.1 2.3 1.4 4.7 8.3 98.7 0.0 3.5 2.7 -5.5 -18.7 -8.9 -7.6 -9.5 -8.6 -4.9 =741 -9.0 -10.4 -11.3 -11.4 -8.1 -1.0 -3.6 -1.6 1.8 -1.9 -3.4 -14 -1.3 -0.6 -0.4 -0.5 0.2 0.3 0.3 2.0
II\EE!EFJ 2.7 2.4 2.8 4.1 8.1 39.5 2.4 4.6 4.9 -0.2 -3.7 -3.2 —4.8 -11.9 -12.1 -8.2 -9.3 -10.9 -9.0 -10.9 -9.1 -1.2 -4.9 -2.7 -0.3 1.9 -14 -3.1 -1.9 -1.2 -0.8 -0.5 -04 -0.5 -0.8 -04 -0.6
el




